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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-15

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

01:15 120 50.0 1] BRi&@01:15 (kRPB{EREEE)
02:15 120 50.0 A RRi1%@02:15 (K F{ER%=2)
03:15 120 50. 0 ;] Bi%@03:15 (RF1EREE)
07:25 120 50.0 |Z=& ;Ri&@07:25 (kFB{EREE)
09:10 120 50.0 |Z= ’Ri1%@09:10 (KkBfEREE)
10:35 120 50.0 | =& 1’R1%@10:35 (KRAfERHEE)
11:40 120 50.0 R Bi%011:40 (REERE)
12:30 120 50.0 R BRi&@12:30 (KPBERE)
13:25 120 50.0 R B21%013:25 (RFERE)
14:20 120 50.0 R BRige14:20 (KBERER)
15:20 120 50.0 [ BRi&@15:20 (FKPBERE)
23+ 1320.0 (117%) 550. 0 3 HEKEC: 1895.0, PH: 6.2

FEREHER 2 STEAEARSF (66.0 : 50.0), AIREAMT—@E XAFH5
ZXIA K FREBRE50. 0 ml.

large discrepency for begining water status (172:96.0), set to 150.0 ml
BE[EIKRECE (2105. 0 vs 2995.0) R
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1895. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6. 2

Warning: lcol ['PHB’,| 'PHC’'] missing
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